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while (1==1):
print("hello")
print ("Goodbye")



i=1

while (i <= 100):
print("hello")
i= i+l
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i=1

while (i <= 100):
print (i)
i=i+1
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i=1
while (i <= 100):
print(i, end=" ")

i=1i+1
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i = 100
while (i > 0):
print (i)
i=i-1
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while (i <= 100):
print (i)
i=1i+2
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i=1
while (i <= 100):
if (A% 2==1):

print (i)
i=1i+1
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i=1
while (i <= 50):
print(i,101-i, sep=":", end=" - ")
i=1+1
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i=1
i=1
sum = 0
while (i <= 100):
sum = sum + i*i

i=1i+1
print ("sum=",sum)

S Ol 1) 0T Jlie 5 LS aeslona 1) 25 ¢ gomes o don gy slsls 1 e

i =

N~

sum 0

while (i <= 100):
sum = sum + 1/i
i=1i+1

print ("sum=",sum)
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i=1

f =1

while (i <= n):
f=f %1
i=1i+1

print("factorial=",f)
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i=1

i=1

f =1

while (i <= n):
f=1f%i
i=1i+1
sum = sum + f

print ("sum=",sum)
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flag = True
n = int (input ("Please enter a positive integer: "))
i=2
while ( i <= n **x 0.5):
r=nd%i
if (r ==0):
print(n," is a composite number.")
flag = False

break
i=1i+1
if (flag):

print(n," is a prime number.")
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i=1
while ( i <= n):
print("*", sep = "",end="")
i=1+1
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j=1

while(j <= m):

i=1

while (i <= n):
print("*", sep = "",end="")
i=1i+1

print("")

i=3+t
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j=1
while(j <= m):

print ("*" * n)

j=i+t
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n = 20
i=1
sum = O

while (i <= n):
grade = float(input("please enter the next grade: "))
sum = sum + grade
i=1+1

avg = sum / n

print ("average =",avg)
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= ["ali","mohsen","reza","zahra", "maryam"]
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a = ["ali","mohsen","reza","zahra","maryam"]
b = ["ali","reza", "mohsen", "zahra",'"maryam"]
a == # False



a = ["ali","mohsen", 1 ,"zahra", 3.4]
ol Hles “J...at&JJJ\JSS o 3 pin Loy G Lole
a = ["ali","mohsen", "ali" ,"zahra", 3.4, 3.4]
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>>> a = ["ali","mohsen",'"reza",'"zahra", "maryam"]

>>> al0]
'ali'

>>> al[2]
'reza'
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>>> a = ["ali","mohsen",'"reza",'"zahra", "maryam"]

>>> a[2:4]
["reza","zahra"]
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>>> a = ["ali","mohsen","reza",'"zahra", "maryam"]

>>> "31i" in a
True

>>> "ahmad" in a
False

>>> "ahmad" not in a
True
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>>> a = ["ali","mohsen",'"reza",'"zahra", "maryam"]
>>> a[0] = "ahmad"

>>> a
["ahmad", "mohsen","reza","zahra", "maryam"]
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>>> a = ["ali","mohsen","reza",'"zahra","maryam"]

>>> len(a)

>>> b =[]

>>> len(b)
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>>> a = ["ali","mohsen","reza",'"zahra", "maryam"]
>>> a[6]

Error!
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>>> a = ["ali","mohsen","reza",'"zahra","maryam"]

>>> b [ 2, 3]

>>> a + b
["ali","mohsen","reza","zahra","maryam", 2, 3]
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>>> a = ["ali","mohsen",'"reza",'"zahra", "maryam"]

>>> a + ["fatemeh"]

>>> a
["ali","mohsen","reza",'"zahra", "maryam","fatemeh"]
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>>> a = ["ali","mohsen",'"reza",'"zahra", "maryam"]
>>> a.append("fatemeh")

>>> a
["ali","mohsen","reza",'"zahra", "maryam","fatemeh"]
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>>> a = ["ali","mohsen","reza",'"zahra", "maryam"]
>>> del al1]

>>> a
["ali","reza","zahra","maryam"]
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